Geometry Exam




Name_______________________________Hr____

STANDARDS REVIEW  KEY



CHAPTERS 1, 2, 3, 4, 5, 6



Date ____/____/____  Score:  
THE BEST ANSWER IS UNDERLINED, ITALICIZED AND IN A LARGER FONT.
1.  What is the midpoint of the line segment with endpoints (-1, -7) and ( -3, 9)? Use the midpoint formula.
A. (4, 2)

B. (-2, 1)

C. (1, -1)

D. (4, -2)

2.  A line segment has endpoints ( 3, -8) and ( -5, 2).  What is the length of this line segment? Use the distance formula.
A. 12.8 units

B. 6.3 units

C. 3.2 units

D. 10 units

3.  Plane geometry is based on several undefined terms.  Which of the following is an undefined term?

A. Triangle

B. Median

C. Point

D. Angle
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4.  In the diagram below, two of the angles formed by intersecting lines have their measures given in terms of x.  Find  the value of x?  
A.  41.5


B. 11
 Vertical Angles are congruent.  3x – 4 = x + 18
C.  7


D.  5.5

5.  A line segment TU has endpoint T(-1, 5) and midpoint M(2, 8).  What are the coordinates of endpoint U?

A. (0.5, 6.5)

B. (3, 3)

C. ( 5, 11)

D. (4, 10)

6.  Which expression is equivalent to the perimeter of a regular n-gon with sides 12 units in length?
[image: image22.emf]A. 12n


B. n + 12

C. 
[image: image42.emf]


D.  
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7.  Find the value of x for the diagram below.  
A. 19


B. 21


C. 15


D. 18

Linear Pairs are supplementary—supplementary angles add to 180.
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8.  If 
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A. 24


B. 90


C. 36


D. 48

( means perpendicular which means the lines intersect at 90(, so 3x + 18 = 90.
9.  Find the value of x if S is between R and T.  RS = x + 4, ST = 2x, and RT = 5x - 10.

A. 1.5


B. 2


C. 1.75

D.  7
A picture is worth a thousand words. . . S is between R and T , , , , 








     R        x + 4               S           2x             T

[image: image24.emf]x + 4 + 2x = 5x – 10 (segment addition postulate)








                                                                                                            ------------------------- 5x -10 --------------------           

[image: image25.emf]10.  Which of the following is NOT an acceptable notation for the line?
A.  
[image: image5.wmf]BD



B. line a

C. 
[image: image6.wmf]a




D. 
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11.  Two angles are supplementary.  One angle is 16 more than the other angle.  Find the measures of the two angles.

Supplementary means adds up to 180 and difference of 16 means one minus the other is 16.
A. 37, 53

B. 164, 16

C.  74, 6

D.  82, 98
12.  Jim wants to give a direct proof for the theorem below.  What diagram should he draw that would be most useful for his proof?

“If two angles are vertical angles, then they are congruent.”

A.  Right Angles

B. Linear Pair

C. Supplementary Angles

D. Vertical Angles
13.  Consider the theorem stated below.

“If two angles are right angles, then they are congruent.”

Which of the following is the inverse of the theorem?  Inverse means to negate both the hypothesis & conclusion
A. If two angles are congruent, then they are right angles.
B. If two angles are not right angles, then they are not congruent.
C. If two angles are right angles, then they are not congruent.
D.  If two angles are not congruent, then they are not right angles.

14.  Which of the following can be used to show that the statement below is false?


“For every polygon, there exists a polygon with one less side.”

A. conjecture

B. counterexample

C. conclusion


D. converse

15.  In the proposition below, A and B are both mathematical statements.


“A is true if and only if B is true.”

Which of the following best defines this proposition?

A. Both A and B are true.



B.  If B is not true, then A is not true.

C.  B is necessary and sufficient for A.

D. If A is not true, then B could be true.

16.  Consider the statement below:


“ If x is an integer, then –x is negative.”

Which of the following is a counterexample that proves the statement is false?

A. 0


B. 3


C. 2


D. -1
17.  Which of the following is an example of inductive reasoning?

A. two-column proof

B. paragraph proof

C. making a prediction from a pattern
18.   Which of the following is an example of deductive reasoning?

A. making a educated guess 
B. direct proof


C. scientific experiment

Complete the following truth tables. 
[image: image26.emf][image: image27.emf]19.






20.  

21.  Consider the following statement:


“If two angles form a linear pair, then they are supplementary.”

Which of the following is the contrapositive of this theorem?  Contrapositive means to negate and switch.
A. If two angles are not supplementary, then they are not a linear pair.
B. If two angles are supplementary, then they are not a linear pair.

C. If two angles are not a linear pair, then they are not supplementary.

D. If two angles are supplementary, then they are a linear pair.

22.  Which of the following is an example of a statistical argument?  Key terms probability and 4%
A. Jim stated that two angles that are right angles are congruent because all right angles are congruent.

B. Kim stated that because line a and line b are perpendicular, they form a right angle by the definition of perpendicular lines.

C. Joe stated that the probability of selecting a black jack from a deck of cards is about 4%.
D. Helen stated that since line c and line d are parallel that they have equal slopes.

23.  A compound statement joined with the word “and” is called a?

A. conjunction

B. disjunction

C. converse

D. conclusion

24.  A statement that describes a fundamental relationship between basic terms of geometry and is accepted without proof is a?

A. conjecture

B. counterexample
C. theorem

D. postulate
25.  Which property is used in the following statement? 


If 
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A. reflexive

B. transitive

C. symmetric

D. subtraction

26.  Which of the following is a negation of the statement below?


A triangle has 3 interior angles.

A. A triangle has 3 sides.



B. A triangle does not have 3 interior angles.
C. A square has does not have 3 interior angles.

D. A square has 4 interior angles.

27.  The conclusion made in statement (3) is applying which Law of logic?


(1) If two angles form a linear pair, then they are supplementary.


(2) Angles 1 and 2 form a linear pair.


(3) Angles 1 and 2 are supplementary.

A. Law of Syllogism
B. Law of Geometry
C. Law of Equality
D. Law of Detachment
28.  
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, find the value of x, if BC = 2x – 7  and EF = 4x – 15. CPCTC . . . BC = EF. . .
A. 8 
B. 11
C. 1.25
D. 4
29.  The triangles shown would be congruent by which method?

[image: image28.emf]A. HL




B. SSS
C. SAS

D. AAS

30. ∆KLM 
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 ∆PQR, m
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K = 75° and m
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R = 25°.  What is the measure of 
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CPCTC.. . .  and all 3 (s add up to 180
A.  100°

B.  50°

C.  80°
D. 70°

31.    In the figure given, 
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T,  RS = 5x, and RT = 7x – 9 .
What is the value of x?  Isosceles Triangle  . . . 2 angles 
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  [image: image29.emf]Then two sides congruent  5x = 7x – 9
A.  9
[image: image30.emf][image: image31.emf]
B.  4.5
C.  18
[image: image32.emf]D.  4

32.  Which theorem would be used to prove that ∆KJM 
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 ∆MLK?
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A.  ASA 

B.  SSS 
C.  SAS 
D.  HL

33. Find the measure of angle 1.

[image: image34.emf]
A. 60(
B. 80(
C. 40(
D. 140(
[image: image35.emf]
Use the following proofs to answer the questions.
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34.  
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36. 



37. 



38. 

39. 

40.  




41.


42.


43.


44.  Find the value of x. 

A. 24


B. -0.5


C.4


D. 1.3


45. 



46.

Assumption is always the opposite of the prove statement.

47.  Find the value of x.

Angle bisectors cut an angle
In half.
A. 24



B.7.5



C.2.5


D.12


48.  Find the value of x if 
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is an altitude of 
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Altitudes are perpendicular and perpendicular 
Means the segments intersect at 90(
3x + 3 = 90
A. 3


B. 29


C. 2.5


D. no solution
Please study this review sheet before your exam and remember to bring your own calculator.

Also, use your 10 minute break between exams wisely as you will not be leaving the room during the exam period.  (
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